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A P — A m’ 2
R—=F A t=5cm m° 0.2
FEA B D22 SD345 kg 61
H bt BEEWMEE =10 o’ 1
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(L~ 1) (L~ 2) (L~ 3) (L1 4) (L1 5)

A5FEEa 7 ) — R H=2. Om = 1.0
ar7Y—h 0 = 18N/mm’ n’ 7 L=2.5m
A P — A m’ 4
0 Sl VA t=5cm m° 0.3
Ak D22 SD345 kg 61
H 14 BEMMEE =10 o’ 1

S dkfEa 2 Y — bk H=1. 5m 2V 1.0
a7 ) —Fk 0 = 18N/mm” m’ 7 L=2.5m
U e — T n’ 3
R—=F A t=5cm m 0.3
e B D25 SD345 kg 80
H Hipt EEMMEE t=10 o’ 1

655 HRE= > 2 U —  H=2. 5m oy 1.0
ar7Y—h 0 = 18N/mm’ n’ 19 L=2.5m
A P — AR A m’ 5
0 Sl VA t=5cm m° 0.4
BT R Hhm” 5
e B D22 SD345 kg 76
H Hipt EEWMMEE t=10 o’ 2
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THX5y T & A ARl Ok e \
(L 1) (L~L 2) (L~ 3) (L~L 4) (ben 5y | T " fi
HERE T TEHERE= > 2 ) — b H=2. Om =X 1.0

ar7Y—h 0 = 18N/mm’ n’ 18 L=2.5m
A P — A m’ 4
R—=F A t=5cm m° 0.3
I AEN oS ] D25 SD345 kg 120
H bt BEMMEE =10 o’ 2

85 M= 7 U —k H=2. 5m =¥ 1.0
a7 ) —Fk 0 = 18N/mm” m’ 27 L=2.5m
LI — T n’ 5
S g t=5cm m 0.4
BT R E fHm” 5
TR 7] D22 SD345 kg 122
H bt BEEWMEE =10 o’ 3

95 =7 U —k H=1.2m =Y 1.0
a7 ) —Fk 0 = 18N/mm’ m’ 20 L=5.0m
LI — T n’ 4
N—=T A t=5cm m 0.7
e B D25 SD345 kg 398
H HikF EEWMMEE t=10 o’ 2
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LU e — TR 79
LR RC-40 t=200 51
FEHHEIE 51
a7 ) —Fk 0 = 18N/mm’ 4.98 | [1.om4 1]
LT e — T 8.47
FEERt RC-40 t=200 5.50
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BORE | B BE | Wrom | 2| K& | W om |k B K & [B om|F B B & [ W om| 3
NO. 3 0.0
NO. 3+8.0 8. 000m 7.2 3. 60 28.8
NO. 4 12. 000m 21.8 14. 50 174.0
NO. 4+10.4 10. 400m 7.6 14.70 152.9

& B 30. 400m 355.7
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W Ao E B PRAEB (1)) PR AR (k)
A BEOBE | B omE | WF om | | % B | om|oF o ®m| &% & | W om|F w| % & | o@|r ®w| & &
NO. 3+8.0 16.5 7.7
NO. 4 12. 000m 20.6 18. 55 222.6 17.2 12. 45 149. 4
NO. 4+10. 4 10. 400m 9.9 15. 25 158. 6 17.7 17. 45 181.5
= H 22. 400m 381.2 330.9
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| 7l Hi & ik=a i T X HAAL 74N g &
DRRIRBE |
WEE NO. 3+4. 82~N0. 3+9. 42 D[] 5.0 m 5.0
EHH (1/2% (4. 671+4. T44) %2. 50+1/2% (5. 494+5. 522) *0. 96+1/2% (5. 522+5. 286) *1. 54) /5. 0 m 5.1

[1.0:0% 0]

a7 )—b | o ,=18N/mn’ 1/2% (8. 415+8. 648) *2. 50+1/2% (11. 252+11. 356)*0. 96+1/2+ (11. 356+10. 498) *1. 54 m’ 49.01
R — IR 1/2%(9. 75+9. 91)%2. 50+1/2% (11. 47+11. 53) *0. 96+1/2* (11. 53+11. 04) *1. 54 m’ 52.99
IKIRE AT VP-65 49. 008*1/6 m 8.17
W tHBA IR | RAE 300X 300 52.99/ (1. 044%2)*1/3 T 8. 46
A 0.3X0.3X8 2 0.79

BT B AT 1/2% (9. 75+9. 91) %2. 50+1/2% (11. 47+11. 53) *0. 96+1/2% (11. 53+11. 04) *1. 54 Hihm? 52. 99
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295 /AR

a7 Y—h H=4671 1/2% (0. 40+3. 203) X 4. 671X 1.00 m’ 8.415
o ck=18N/mm’ H=4744 1/2X (0. 40+3. 246) X 4. 744X 1. 00 n’ 8. 648
H=5494 1/2 (0. 40+3. 696) X 5. 494X 1. 00 m’ 11. 252
H=5522 1/2% (0. 40+3. 713) X 5. 522X 1. 00 n’ 11. 356
H=5286 1/2% (0. 40+3. 572) X 5. 286X 1. 00 m’ 10. 498

£ 1:0. 3=1. 044
A H=4671 4.671X1.044X2X1.00 n’ 9.75
— TR P H=4744 4. 744X 1. 044X 2X 1. 00 m* 9.91
H=5494 5.494X 1. 044 X2X1. 00 n’ 11. 47
H=5522 5.522X 1. 044 X2 X 1. 00 m* 11.53
H=5286 5.286X 1. 044 X2X1.00 n’ 11. 04

BHEER 1:0.3=1. 044
5T H=4671 4.671X1.044X2X1.00 fhn® 9.75
BRI 5 H=4744 4. 744X 1.044X2X1.00 Hhm® 9.91
H=5494 5.494X 1. 044 X2 X 1. 00 fhn® 11. 47
H=5522 5.522X 1. 044 X2X1. 00 Hhm® 11.53
H=5286 5.286X 1. 044 X2 X 1. 00 fhn® 11. 04
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AE B Ciikzg G B 2V BT N S

153 T AU gk SEHIH=6. 1m EHIH= | 1/2% (6. 531+5. 756) m 6.1
ER NO. 3+9. 422~N0. 3+14. 148 m 4.98

[1.0:% 0]
av7)—Fk o ck=24N/mm’ WHEAREELY m® 26. 424 26
TR RS " m’ 71. 80 72
PR &= t/m2 0. 065 0. 065
5T FHESATIIR LR " Fihm® 55. 00 55
W HA B 1k A 300X 300 X 30 (1/2% (5. 931+5. 156) *4. 98) *1/3 ¥ 9.2 9
KA T VP ¢ 65 16. 564%1/3 m 5. 52 6
H Hih VEFWHEE t=20m KHEFHHEELY m’ 5.00 5
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AR B Ge2 7 B X BT N S
1538 T AU e
[1.0:% 0]
av7U—k o ck=24N/mm’ BXEE |1/2+% (5. 931+5. 156) *4. 98%0. 60 mn’ 16. 564
JEERR |3, 30%0. 60+%4. 98 mn’ 9. 860
ai m’ 26. 424
T e RS BRBE |1/2%(5.931+5. 156) *4. 982 m’ 55.21
JERR 4. 98%0. 60%2 m’ 5.98
HHREREE 0. 60% (5. 931+5. 156) m’ 6. 65
B 3. 30%0. 60%2 m’ 3. 96
At m? 71. 80
L5 A TRIBRRERC A1 (2/2) SR ER L
i) SD345 D13 6165%1,/1000 t 0.616
SD345 D16~D25 D16  [121%1/1000 t 0.121
SD345 D29~D32 D29  |986%1/1000 t 0. 986
SD345 At t 1. 723
3T FAESATRI AL 55 1/2% (5. 931+5. 156) %4. 98%2 i 55
H ks TEHEHMEE t=20mm 0. 60%5. 156+3. 30%0. 60 n? 5
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295 Wi T AU ek SEHJH=6. 5m EHIH= | 1/2% (6. 911+6. 134) m 6.5
ER NO. 3+14. 148~N0. 3+19. 081 m 4.98

[1.0:% 0]
av7)—Fk o ck=24N/mm’ WHEAREELY m® 29.948 30
TR RS " m’ 76. 99 77
PR &= t/m2 0. 099 0. 099
5T FHESATIIR LR " Fihm® 57.99 58
W B 1A 300X 300 X 30 (1/2% (6. 211+5. 434) *4. 98) *1/3 ¥ 9.7 10
KA T VP ¢ 65 17.398%1/3 m 5. 80 6
H Hih VEFWHEE t=20m KHEFHHEELY m’ 5.78 6
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AE B Ciikzg 7 B 2V HANL N S
253 T HU ek
[1.0:% 0]
ENTAREN o ck=24N/mm’ BREE | 1/2% (6. 211+5. 434) *4. 98%0. 60 mn’ 17.398
JEERR |3, 60%0. 70%4. 98 mn’ 12. 550
ai m’ 29. 948
T e RS BREE |1/2% (6. 211+5. 434) *4. 982 m’ 57.99
JERR 4. 98%0. 70%2 m’ 6. 97
R ELRE 0. 60% (6. 211+5. 434) m’ 6. 99
SR JEAR | 3. 60%0. 70%2 m’ 5. 04
At m’ 76. 99
2 A TAIGERERC AR X (2/2) SR EF LY
N SD345 D13 357%1,/1000 t 0. 357
SD345 D16~D25 | D16,D19 | (215+566)%1/1000 t 0. 781
SD345 D29~D32 | D29, D32 | (1356+499)31,/1000 t 1. 855
SD345 At t 2.993
e T TR A TR A 1/2% (6. 211+5. 434) %4. 98%2 Hm? 57.99
H ks BEEWHEE t=20mn 0. 60%5. 434+3. 60%0. 70 m’ 5.78
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AE B Ciikzg G B 2V BT N S

3 T AU ek SEHIH=T. 6m EHIH= | 1/2% (7. 979+7. 213) m 7.6
ER NO. 3+19. 081~N0. 4+4. 318 m 4.98

[1.0:% 0]
av7)—Fk o ck=24N/mm’ WHEAREELY m® 42. 416 42
TR RS " m’ 92. 69 93
PR &= t/m2 0. 108 0. 108
5T FHESATIIR LR " Fihm® 67.69 68
W B 1A 300X 300 X 30 (1/2% (7. 179+6. 413) *4. 98) *1/3 ¥ 11.3 11
KA T VP ¢ 65 23. 691%1/3 m 7.90 8
H Hih VEFWHEE t=20m KHEFHHEELY m’ 8.25 8
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AE B Ciikzg G 1 2V BT N S
33 T ek
[1.0:% 0]
ENTAREN o ck=24N/mm’ BREE | 1/2% (7. 179+6. 413) *4. 98%0. 70 mn’ 23. 691
JEERR | 4. 70%0. 80%4. 98 mn’ 18.725
ai m’ 42.416
T e RS BREE |1/2% (7. 179+6. 413) *4. 982 m’ 67. 69
JERR 4. 98%0. 80%2 m’ 7.97
R EREE |0, 70% (7. 179+6. 413) m’ 9.51
B EChR (4. 70%0. 80%2 m’ 7.52
At m’ 92. 69
ST ATAIGERER AR IX (2/2) SR EF LY
] SD345 D13 443%1/1000 t 0. 443
SD345 D16~D25 D19  |1037%1/1000 t 1. 037
SD345 D29~D32 D32 |3084%1/1000 t 3.084
SD345 At t 4. 564
e T TS TRV 1/2% (7. 179+6. 413) %4. 98%2 Hm? 67. 69
H ks BEEWHEE t=20mn 0. 70%6. 413+4. 70%0. 80 m’ 8.25
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453 T B e SEHIH=9. Om EHIH= | (1/2%(9. 213+49. 00) *1. 38+9. 00%3. 60) /4. 98 m 9.0
ER NO. 4+4. 318~NO0. 4+9. 972 m 4.98

[1.0:% 0]
av7)—Fk o ck=24N/mm’ WHEAREELY m® 64. 872 65
TR RS " m’ 116. 12 116
PR &= t/m2 0. 089 0. 089
YT FHREFATRVHL R S " Hhm® 79.97 80
W B 1A 300X 300 X 30 (1/2% (8. 213+8. 000) *1. 38+8. 000%3. 60)*1/3 ¥ 13.3 13
KA T VP ¢ 65 35. 988%1/3 m 12. 00 12
H Hiks TS HMEE t=20mm WRAEGHHRELY m? 13. 00 13
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AE Ciikzg G B G S
453 T R e
[1.0:% 0]
ENTAREN o ck=24N/mm’ EXBE | (1/2%(8. 213+8. 000)*1. 38+8. 000%3. 60) *0. 90 35. 988
JEERR |5, 80%1. 00%4. 98 28. 884
ai 64. 872
TR BOBE | (1/2%(8. 213+8. 000)*1. 38+8. 000%3. 60) %2 79.97
JERR 4. 98%1. 00%2 9. 96
FREREE 0. 90% (8. 213+8. 000) 14. 59
BRI | 5. 80%1. 00%2 11. 60
At 116. 12
495 TR GERERCARIX (3/3) SR EE LY
] 824%1,/1000 0. 824
SD345 D16~D25 D19  |1275%1/1000 1. 275
SD345 D29~D32 D32 |3684%1/1000 3. 684
SD345 & &t 5. 783
e85 T FAHEIAT RN A (1/2% (8. 213+8. 000) *1. 38+8. 000%3. 60) *2 79.97
H Hubt 0. 90%8. 00+5. 80%1. 00 13. 00
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157 ) — H=2. 3m
ER NO. 3+4. 816~N0. 3+7. 109 2.5
[1.0:% 0]

a2z ) —k o ck=18N/mm’ 4.922%2. 5 12. 305 12
T — TR 1.88%2.5 4.70 5
S t=5cm 2. 92%2, 5%0. 05 0.37 0.4
s HAEBRE Y 1.88%2.5 4. 70 5
i o K D22 SD345 24.3%2.5 60. 8 61
H ks BEEWHEE t=10mn 12. 305%1/10 1.23 1
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AE B k=2 G B 2V HANL N =
2EHMEa 7 ) — b H=2. 3m
R NO. 3+7. 109~NO0. 3+9. 422 m 2.5
[1.0:% 0]

a2z ) —k o ck=18N/mm’ 5. 925%2. 5 m® 14. 813 15
T P — TR 1.88%2.5 m? 4.70 5
S t=5cm 2. 92%2, 5%0. 05 m’ 0.37 0.4
T HUEER R S 1. 88%2. 5 i 4.70 5
i o K D22 SD345 24.3%2.5 kg 60. 8 61
H ks TR WHEE t=10mm 14. 813%1/10 m? 1.48 1
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B Bl Fikza i = HNL INF &
35 7 ) — b H=1. 3m
EE NO. 3+9. 422~N0. 3+11. 765 m 2.5
[1.0:%%4 1]

av 7 Y—h o ck=18N/mm’ 2.285%2. 5 e 5.713 6
TR e — J TR P 0. 84%2. 5 m 2.10 2
o S GV t=5cm 1. 88%2. 5%0. 05 e 0. 24 0.2
HEA B D22 SD345 24, 3%2. 5 kg 60. 8 61
B Hipf PES S t=10mm 5. 713%1/10 m 0.57 1
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B Bl Fikza 7 B = HNL INF &
4eEa 7 ) — | H=2. Om
EE NO. 3+11. 765~N0. 3+14. 148 m 2.5
[1.0:%%4 1]

av 7 Y—h o ck=18N/mm’ 2.835%2. 5 e 7.088 7
TR e — J TR P 1.57%2. 5 m 3.93 4
o S GV t=5cm 2. 61%2. 5%0. 05 e 0.33 0.3
HEA B D22 SD345 24, 3%2. 5 kg 60. 8 61
B Hipf PES S t=10mm 7.088%1/10 m 0.71 1
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mooml O Eik= i =X HNL INE &
S 7 ) — b H=1. 5m
EE NO. 3+14. 148~N0. 3+16. 583 m 2.5
[1.0:%%4 1]

av 7 Y—h o ck=18N/mm’ 2.615%2. 5 e 6. 538 7
TR e — J TR P 1. 04%2. 5 m 2. 60 3
o S GV t=5cm 2. 09%2, 5%0. 05 e 0. 26 0.3
HEA B D25 SD345 31.8%2.5 kg 79.5 80
B Hipf PES S t=10mm 6.538%1/10 m 0. 65 1
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657 ) — H=2. 5m
ER NO. 3+16. 583~N0. 3+19. 081 2.5
[1.0:% 0]

a2z ) —k o ck=18N/mm’ 7.715%2. 5 19. 288 19
T — TR 2.09%2. 5 5.23 5
S t=5cm 3. 13%2. 5%0. 05 0.39 0.4
s HAEBRE Y 2. 09%2. 5 5.23 5
i o K D22 SD345 30. 4%2. 5 76.0 76
H ks BEEWHEE t=10mn 19. 288%1/10 1.93 2
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B Bl Fikza i = HNL INF &
TEEMEa 7 ) — b H=2. Om
EE NO. 3+19. 081~NO. 4+1. 655 m 2.5
[1.0:%%4 1]

av 7 Y—h o ck=18N/mm’ 7.275%2. 5 e 18.188 18
TR e — J TR P 1.57%2. 5 m 3.93 4
o S GV t=5cm 2. 61%2. 5%0. 05 e 0.33 0.3
HEA B D25 SD345 47.8%2. 5 kg 119.5 120
B Hipf PES S t=10mm 18. 188%1/10 m 1.82 2
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SEHMEa 7 U — 1t H=2. 5m
ER NO. 4+1. 655~N0. 4+4. 318 2.5
[1.0:% 0]

a2z ) —k o ck=18N/mm’ 10. 825%2. 5 27. 063 27
T P — TR 2.09%2. 5 5.23 5
S t=5cm 3. 13%2. 5%0. 05 0. 39 0.4
s HAEBRE Y 2. 09%2. 5 5.23 5
i o K D22 SD345 48. 6%2. 5 121.5 122
H ks BEEWHEE t=10mn 25. 813%1/10 2.58 3
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B Bl Fikza i = HNL INF &
9O 7 U — b H=1. 2m
LR NO. 4+4. 318~N0O. 4+9. 972 m 5.0
[1.0:%%4 1]

av 7 Y—h o ck=18N/mm’ 4, 035%5. 0 e 20. 175 20
TR e — J TR P 0. 73%5. 0 m 3.65 4
o S GV t=5cm 2. 61%5. 0%0. 05 e 0. 65 0.7
HEA B D25 SD345 79. 6%5. 0 kg 398. 0 398
B Hipf PES S t=10mm 20. 175%1/10 m 2.02 2
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